EF_t+HE“FEN £HEHFZRIEE
M= F1iRiAA

—UEFEBT (5 4 S,k 40 5

LR =M 581 g = Mg ALY 2 )

- / —

A 1 A) (B) (€) (D)

2. R R EAY 200 T8, SEREA a 6. SRR o 00 B A 182 J0. IR A1) 56 A 5 IR A Y O
«C

(A) 20001 —a %) = (1 +a%)=182. (B) 182(1 —a %) = (1 4+a %) =200.
(C) 20001 +a%) (1 —a%)=182. (D) 182+ —a%) +{+a%)=200.

3. — AU i = AN 2 B, Uz LA A AT BE = T 51 P9 A 28 30T v Y )

~_
EAH  AEMA ’

HAE, (A) (B) (©) (D)

4. 5%k F o W—I0 KB —2Dx 4+ 32z +m? —5m +6=0 B EIH 0,0 m W{HZ
( )

(A) 2. (B) 3. (C) 2 3% 3. (D) 0.
5. 5% | x — 2014 |=2014 — x [ IFEEERA ( )
(A) 2013 4~ (B) 2014 A~. (C) 2015 4~ (D) &% %A
6. £ ANABC W, % AC =./17 ,BC =/10 ,AB =./13 . Il AABC 1T 1 ( )
11
(A) /10. (B) 2./3. © - (D) 6.
7. Given equation S = 71 —! of 2, then the number of 5 A
Vo — i —x —
solutions for this equation is ( ) C
B
(A) 0. (B) 1. (C) 2. (D) countless. D
8. 2 (/3+242) + (J3—22) =6 M+ =C ) el 3
(A) 2. (B) — 2. © £2. (D) + %
9. Wil 3.AB=AC,AD =DE =EC =BC.Jll| ZABC WEHKC y
(A) 30°. (B) 40°, (C) 45°. (D) 60°.
10. WA 4, % AB 2 OO H3%,CD & ©O M. B CD 5 AB M5 . % m
m =| Sacas — Sapas | sn =S roan NylKe ) C D
(A) m > 2, (B) m =2n. B
(C) m < 2n. (D)m 5 2n 9 R D RiEHE.

& 4



T ABEETEBE(HNMA S E 40 H))

2

¥y
2=0, 0 =
N4y +4y + O)Jy 2y 11
12. & 5. % ¥ ABCD #.AB = 60.BD = BC + %CD, m Bc = 4 B

)

13. In AABC as shown in Fig. 6, /ABC= 40°, /BAC = 60°. Both BD and
CD are the interior angle bisectors of AABC which intersect at point D, BE and CE Kl 5
are exterior angle blsectors of AABC which intersect at point E, then ./ BDC —
/BEC =

14. 4 1g.2g. 5g,10g HYREAS A 2 A4 s AT IR 2 AN TR B 28185 108 1 04 3 3 o D0 RSP A7 9K
FeP i R P =

MQ@

Fig. 6 9 & 10
15. anf&l 7. % %30 AABL EI’J%S%IXHE ﬁr—“aA H5iKBC i F EA . ITIE 53 AB (AC 4%
M T D.E. # BC =3, ANADE 11 fR &
16. iznl’i[ 8, RtAABC W, /C =90°,AC =2,BC =1. ﬁu C AL ,CB A RMEA AB T

/"E\"\ Damuiz

17. T%ﬁﬁﬁﬂ:ﬁ%tlﬂ MWLk C 2t A8 .B(7.8), 5 x WA A 14138 5, W ¥y £k
C LA R 32 B 1 B I B

18. WKl 9,41 ANAFG ¥4 B BC,DE %iuﬂzﬂtﬁﬁﬁm: 9 =AY ACB O #IE
BCED #%% DEGF , Hm 4% 8 S,,S,.S. .4 S, =63, S, — S, =

19. Wil 10, M43iH ABCD W, /ABC = /CDA =90°,AD =DC =5,AB =7, BC—l n BD

20. 1E7?1zlxﬂﬁ%ﬁﬁt/|\ﬁv~1%ﬁ'a? AN TE LB i 2 1 A% B 5K R 4 T S B L 2 W) R T A T
PRS00 R R A B A R /N P LI P =

Z BAESZT(H M8 45,2 40 5.)

.5 LT WG =G —O=0(p—20p—4 BHDLER 2,2, BHEMH=MAE

PR 45 AR 30 B Ut B AR = R R 1 T AR R R 2 R p =
22.1f x . y, and = satisfly the equation 4 /= +4/y —4 +4./r —8 ==z +y+z, then x +
y+z= , and xyz = .
23. % NABC M =4ihK asb.c Wik b +c =10,bc =a’ — 12a + 61, ANABC W Ji K % T
ST T

24, WA 11 AEF T AR R 2 O —y . 7 Ho ol R&y_ﬁ<f>o> 9 P % 2 5695 OBCD 1y

. 1 i . 7 A
i BC TRE.ZCDTF &, H DF:ICD.EPEIJQF; OECF {240 71 \
E

77‘9&(”] - B C
25. FH AR 2Oy 1, #ﬂl%%y—aluﬂm +casb.c AEEH 5 2 Bl -
AWML A ,0) B, 0. 45 [y [ |2, | #KRT LMW abe B O D

/M S a +b 4= . H 11

X



o m _
1 —
2 < |&| ~la | & -
-— (9V]
_J ;
(= 2] aa)]
o (@) -
(@\l —
A T I R S -
~ | <
© (@) u
™
0 aa)]
< m m
N ve) ~ 00 H i
— (@\| T— <
N
™ aa)]
N )] -
==l e] e w ]|
- @)
|| | o
M| K | # | o i §






